]y(tt)\ Unirm dM(tt)d|y (tt) [GeV ] \y(tt)] aml)rm dM(t?)zd\y(ttH [GeV™ ]

300 < M(tt) < 450 GeV
0.0-0.2 (1.855 + 0.017 + 0.059) x10~3 1.0-1.2 (1.083 4 0.012 + 0.035) x 1073
0.2-0.4 (1.800 £ 0.013 + 0.050) x10~°  1.2-1.4 (8.15+ 0.11 +0.28) x10~*
0.4-0.6 (1.719 £ 0.014 + 0.051) x1073 1.4-1.6 (5.09 £ 0.09 +0.22) x10~*
0.6-0.8 (1.611 £ 0.014 + 0.068) x1073 1.6-2.4 (8.94 + 0.23 +0.84) x107°
0.8-1.0 (1.378 £ 0.013 + 0.049) % 103 —

450 < M(tt) < 625GeV
0.0-0.2 (2.139 + 0.016 + 0.035) x103  1.0-1.2 (9.23 + 0.11 +0.34) x10*
0.2-04 (2.036 + 0.014 + 0.029) x1073 1.2-14 (6.13 + 0.09 + 0.24) x10~*
0.4-0.6 (1.848 + 0.014 + 0.031) x1073 14-1.6 (3.33 + 0.07 £ 0.20) x10~*
0.6-0.8 (1.586 & 0.013 + 0.034) x10°  1.6-2.4 (447 + 0.14 + 0.44) x107°
0.8-1.0 (1.279 £ 0.012 4 0.029) x 103 —

625 < M(tt) < 850 GeV
0.0-0.2 (9.57 + 0.10 + 0.20) x10~* 1.0-1.2 (2.92 + 0.06 =+ 0.13) x10*
0.2-04 (8.84 + 0.09 +0.17) x10~* 1.2-14 (1.65 + 0.04 +0.14) x10~*
0.4-0.6 (7.60 + 0.08 £ 0.31) x10~* 14-1.6 (8.00 + 0.32 £+ 0.52) x107°
0.6-0.8 (6.14 + 0.08 =+ 0.28) x10~* 1.6-2.4 (1.013 + 0.065 + 0.098) x10~5
0.8-1.0 (4.64 + 0.07 £0.17) x10~4 —

850 < M(tt) < 2000 GeV
0.0-0.2 (1.006 + 0.017 + 0.036) x10~*  0.8-1.0 (3.48 + 0.10 =+ 0.20) x10~>
0.2-0.4 (9.44 + 0.16 =+ 0.45) x1075 1.0-1.2 (2.12 + 0.08 £ 0.13) x10~>
0.4-0.6 (7.71 + 0.15 £0.32) x107° 1.2-14 (1.04 + 0.06 + 0.12) x107°
0.6-0.8 (5.62 + 0.13 +0.28) x10~° 1.4-2.4 924+ 09 +1.5)x1077



